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Nore: i) Attempt any five questions.
fap=2t qTa "1 o & Pl
ii} Al questions carry equal marks.
wfi weAt & T P B
iii)In case of any doubt or dispute the English version
question should be treated as final.
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i. a) Explain the Phases of Operation Research.
aifae= frad & 9=l Y =Rer B
b) Define Model. Discuss the steps of modeling.
Hiear I uRenfag 31 Atefdn & azoil i a9f B
2 Solve the following travelling salesman problem.
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3. a) Explain Economic order quantity model with suitable
example. '
i 9 /T Aisel Y SUgET ISTERT HiRd THHIET|

b) Inthebasic EOQ model, if D = 6000 per year, S = $150,

and holding cost - $15 per unit per month, Unit cost $5,
what is the economic order quantity?
¢ EOQ Hiset &, af§ D = 6000 7fdy ad, S = $150 3R
gfesn @ - $15 9y gfie ufy O”, sHE @ $s,
el e A w1 2 7

4. a) Define Queue. Explain Queuing systems with neat sketch.
FHAR DI IRAMRE PR FHaRag AN P TS Y@

& W] T
b) A television repairman finds that the time spent on
his Jc?bs has exponential distribution with a mean of
30 minutes. If he repairs the sets in the order in which
tl!ey came in, and if the arrival of sets follows a Poisson
distribution with an approximate average rate of 10 per
8-hour day, what is repairman expected idle time each

day?
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FI T 29 fAifera g9g S T I=iig 27

's. The owner of a chain of four grocery stores has purchased six

crates of fresh strawberries. The estimated probability
distribution of potential sales of the strawberries before
spoilage differs among the four stores. The following table
gives the estimated total expected profit at each store, when it
is allocated various numbers of crates.
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Number of Crates | 1 T T e 6. Write short notes on the following:

0 [l] 0 ——3 - 3_ a) PERT ‘ ,
L 4 B e T 5 b) Pay off matrix
s | 6 4 3 - ¢) Saddle Point
3
3 7 6 3 4 d} ZeroSum Game
4 7 8 8 4 Fr=forRea wR wfém ey o |
5 7 9 ) 4 ) PERT
6 1 10 8 4 ) u-ais ifee
For administrative reasons, the owner does not wish to split ) d<el ulse
crates between stores. However he is willing to distribute zero
crates to any of his stores. Tetet Q) SR ‘
IR fFRE 6 gl H Wb Fael & wifeies A a1 Fad &b B 7. Draw a network diagram and find the critical path of diagram.
e @R 1 T 2 9 Ugr e o wifed T <t g weh Sead ARG TN QiR IR B HEEgHl T G
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SR e ST & ' ' 8. Write about the following:
Stores a) Stochastic inventory models
Number of Crates| 1 2 3 4 b) Minimal spanning tree
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